Announcements:
1. Final HW due Friday of 10t week
2. Professor Burke’s office hours this week:
Tu 9:30-11:30 (EH 2230)
Th 9:30-11 (EG 2232)
Th 2-3:30 (EH 2230)
3. Exam will cover all of Ch. 9 (not delta-Y),
and part of Ch. 14 (14.1 14.2 14.314.5 14.6 14.7)

EECS 70A: Network Analysis



Conversion procedures

|(t) —> I i(t)=|mCOS(a)t+¢):> | = |mei¢
V(t)_> \ v(t) =V, cos(at+¢)=> V=V,
= () i(t) =Re( 1 e/
V. — v(t) v(t) = Re(Ve!”)

For the exam, you should know how to carry out these procedures.
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Conversion procedures

Given i(t) find v(t):

i) — 1 =V=1Z4 V(1)

+

V(t) Given v(t) find i(t):

v{t) = V= 1=V Zg it)

For the exam, you should know how to carry out these procedures.




Complex numbers Lo

A
21\ 4 b
Euler’s relationship: T —
x ?Q
j@ = = Memorize
e =Cosg+ JSIing
Need to be able to manipulate complex numbers, e.g. given:
. b
J- A+ JB (A,B,C,D all real) U= e
C+ JD Clesy. Finl ) i Yevuy 0P'r‘ b:
jw =1

°Find Re(u), Im(u)
*Express u as x+jy, rel?

*Find Re(u feit T\
. Fihi ‘\Ll)‘_: ‘\;'Re(ﬂl'\' TS S

Did some of this in office hours..
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2. Answer the question below.
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Type: Multiple Choice | Wiew Students

Answer Option
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«# of responses to this question=

3. Answer the question below.

Type: Multiple Choice | Yiew Students

Answer Option
o

B
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D
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“Transfer Function” #uw)

Input Linear network > Qutput

Vinlt) Vour (£)

Coul& M\M Vow.e ('t) Tso c.mrlo'c.tp fc\/ avL:\vu’ dwu.o:h

V{v\ [t) and g\vb;\v&/ﬁ uu.-P‘vms,
lnstead Sof ine Wm') Assume Peviodic ‘P\m—»a\-i’nuf
Vin v .
Tvoms Pew pun(a-.‘m\ Vinl¥) = \/in,m COS(\*’t +d>-'n)
Hw = Vour Vouelt) = Vo...-l;,..... CbSCWf ‘f"¢oud:)
= Vire

Note: Youe LE) ;.8 VouT il depend on w-
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INPUT:

RC transfer function

FIinp  H(w)
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Example problem

Find H(m) for this circuit, then sketch the magnitude of H(®) vs ®: (students)
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INPUT:

Band

Hlu)p

ass filter (RLC)
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FAST E N
SEAT BELTS

http://www.peachparts.com/shopforum/show
thread.php?t=256624 v




Resonance
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Tacoma Narrows:bridge (1940)

Nov 7, 1940

6/1/2010

17






